

## Exercises

(1)  $H_3 = \langle x_1, x_2, x_3 \mid x_1^{-1}x_2x_1 = x_2^2, x_2^{-1}x_3x_2 = x_3^2, x_3^{-1}x_1x_3 = x_1^2 \rangle$  is trivial.

Proof  $x_2x_1x_2^{-1} = x_1x_2$ , conjugate with  $x_3 \Rightarrow$  use  $x_3^{-1}x_2x_3 = x_2x_3^{-1} \Rightarrow$

$$\underbrace{x_3^{-1}x_2x_3}_{x_2x_3^{-1}} \underbrace{x_3^{-1}x_1x_3}_{x_1^2} \underbrace{x_3^{-1}x_2^{-1}x_3}_{x_2x_3^{-1}} = \underbrace{x_3^{-1}x_1x_3}_{x_1^2} \underbrace{x_3^{-1}x_2x_3}_{x_2x_3^{-1}}$$

$$\text{i.e. } x_2 \underbrace{x_3^{-1}x_1^2x_3}_{x_1^4} x_2^{-1} = x_1^2 x_2 x_3^{-1} \Leftrightarrow x_2 x_1^4 x_2^{-1} = x_1^2 x_2 x_3^{-1} \Rightarrow$$

$$x_3 = x_2^{-1} x_1^{-4} x_2 x_1^2 x_2$$

$\Rightarrow$  the subgroup  $H = \langle x_1, x_2 \rangle \subset H_3$  coincide with  $H_3$ .

But  $H$  is a quotient of  $G = BS(1,2) = \langle x_1, x_2 \mid x_1^{-1}x_2x_1 = x_2^2 \rangle$ .

$G \hookrightarrow GL(2, \mathbb{Q}), G \cong \langle \begin{pmatrix} 1 & 0 \\ 0 & 2 \end{pmatrix}, \begin{pmatrix} 1 & 1 \\ 0 & 1 \end{pmatrix} \rangle$ , This is triangular group. Verify that

$$\left[ \begin{pmatrix} * & * \\ 0 & * \end{pmatrix}, \begin{pmatrix} * & * \\ 0 & * \end{pmatrix} \right] = \begin{pmatrix} 1 & * \\ 0 & 1 \end{pmatrix} \Rightarrow G'' = [G', G'] = 1.$$

$$\left[ \begin{pmatrix} 1 & * \\ 0 & 1 \end{pmatrix}, \begin{pmatrix} 1 & * \\ 0 & 1 \end{pmatrix} \right] = 0 \Rightarrow H'' = 1 \text{ since } G \twoheadrightarrow H.$$

On the other hand  $H_3' = H_3$  because abelianization of  $H_3$  is triv. Hence

$$H_3'' = H_3' = H_3 \Rightarrow H_3 = 1. \square$$

(2) A HNN extension  $G *_\theta$ ,  $\theta: H \rightarrow K$  is a subgroup of an amalgamated product  ~~$G *_\theta K$~~   $G *_\theta K$ .  $G * \mathbb{Z}$  and  $G * \mathbb{Z}$

Pf  $E = G *_\theta = \langle G, t \mid t h t^{-1} = \theta(h), h \in H \rangle$

$$U = G * \langle u \rangle, \quad V = G * \langle v \rangle$$

The subgroup  $C$  of  $U$  generated by  $G$  and conjugate  $u H u^{-1}$  is  $C \cong G * u H u^{-1} \cong G * H$

The subgroup  $D$  of  $U$  generated by  $G$  and conjugate  $v K v^{-1}$  is  $D \cong G * v^{-1} K v = G * K$ .

$\exists$  an isomorphism  $\varphi: C \rightarrow D$ ,  $\varphi|_G = \text{id}$ ,  $\varphi|_{u H u^{-1}} = v^{-1} \varphi|_H v \in v^{-1} K v$ .

$$\text{Set then } H = G * \langle u \rangle * G * \langle v \rangle$$

$$C = D$$

We have  $G \hookrightarrow H$ . Set then  $\tilde{E} = v u$ ; then  $\Rightarrow \tilde{E} h \tilde{E}^{-1} = \varphi(h)$ . Set

$$\tilde{E} = \langle G, \tilde{E} \rangle \subset H. \text{ We claim } \tilde{E} \cong E. \text{ Set } \alpha: E \rightarrow \tilde{E}, \alpha|_G = \text{id}, \alpha(t) = \tilde{E};$$

Let  $\gamma: H \rightarrow E$ ,  $\gamma|_G = \text{id}$ ,  $\gamma(u) = t$  (on  $U$ );  $\gamma|_C = \gamma|_D \Rightarrow \gamma: H \rightarrow E$  well def.  
 $\gamma|_G = \text{id}$ ,  $\gamma(v) = t$  (on  $V$ )

Set  $\beta = \gamma|_{\tilde{E}} \Rightarrow \beta: \tilde{E} \rightarrow E$  is the inverse of  $\alpha$ .



$$G = \langle X \cup Y \mid R \cup S \cup \{y w_y^{-1}(x), y \in Y\} \cup \{x v_x(y)^{-1}, x \in X\} \rangle$$

(v) Write  $R = \{r(x), r \in R\} \Rightarrow$  rewrite

$$G = \langle X \cup Y \mid \{r(x), r \in R\} \cup S \cup \{y w_y^{-1}(x), y \in Y\} \cup \{x v_x(y)^{-1}, x \in X\} \cup \\ \{r(v_x(y)), x \in R, y \in Y\} \cup \{y w_y^{-1}(v_x(y)), y \in Y\} \rangle$$

The inverse of  $T2 \Rightarrow$

$$G = \langle X \cup Y \mid S \cup \{r(v_x(y)), r \in R\} \cup \{y w_y^{-1}(v_x(y)), y \in Y\} \rangle$$

v) Use inverse  $T1 \Rightarrow$  throw away  $X$

$$G = \langle Y \mid S \cup \{r(v_x(y)), r \in R\} \cup \{y w_y^{-1}(v_x(y)), y \in Y\} \rangle$$

$$\text{Use inverse } T2 \Rightarrow G = \langle Y \mid S \rangle \quad \square$$

Pf. Newman thm. let  $G = \langle x_1, \dots, x_k \mid r_1, \dots, r_e \rangle$ ,  $G = \langle y_1, \dots, y_m \mid s_1, s_2, \dots \rangle$ .

Add first  $y_i$ 's to generators and then remove  $x_j$ 's:

$$G = \langle x_1, \dots, x_k, y_1, \dots, y_m \mid r_i(x), y_j w_j^{-1}(x)^{-1} \rangle =$$

$$= \langle x_1, \dots, x_k, y_1, \dots, y_m \mid r_i(x), y_j w_j^{-1}(x)^{-1}, x_s v_s(y)^{-1} \rangle =$$

$$= \langle x_1, \dots, x_k, y_1, \dots, y_m \mid r_i(v_s(y)), y_j w_j^{-1}(v_s(y))^{-1}, x_s v_s(y)^{-1} \rangle =$$

$$= \langle y_1, \dots, y_m \mid r_i(v_s(y)), y_j w_j^{-1}(v_s(y))^{-1} \rangle$$

and lemma  $\Rightarrow$  ok  $\square$ .